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 ا  را  

ت اا  

 

 

1 

683 + 29 = ___________ 

3500 – 68 = ___________ 

5073 – 78 = ____________ 

202 + 39 + 136 = _________ 

2

635 – 128 = _____53 + _____ = 2063 

145 – ____ = 11527 + _____ = 130

____ – 20 = 125_____ + 84 = 200

3

2400 : 4 = 4900 : 7 = 350 : 50 = 

4400 : 400 = 2700 : 30 = 4900 : 70 = 
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4

3 + 2   (5 – 1) = 6 + 8 : 2 = 

4 + 7 : 7 – 3 =27 : 3 + 27 : 9 =

0 : 5 + 0  5 = 3 + 14 : 7 – 5 =

5

810081036363

117430648

9000901457654

6<>

253 + 1 ___ 253 × 125  7 ___ 26 × 7

75 – 19 ____ 75 – 14 260 : 4 ____ 230  4

2100 + 30 ____ 1530 + 2019071907
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7

208 + _____ = 208 + 13019 + 25 = 18 + ____ 

325 + _____ = 400 + 22527 + 36 = _____ + 26

8<>

1924017240

9 

 

013

1577302

 

9

2345428  

7  +  584  7  -  584  


